N° NORD-SUD 1|23 5|6|7(8|9|10{11|12(13|14|15|16|17|18[19|20|21|22|23(24| TOT Place NORD - SUD Résultat
6 Jean - Freddy 12(12{12|0|1|12|0| 0|0 0|11| 8 |10[0|11|5(|12| 6| 1|6 |10 8|12 156 1 Jean - Freddy 61,90%
2 Jeanine - Bernard s5|5|7[1w0fw0|2]|2]|0]f2 0|0|12{10f(11| 1| 1|8 |11|12(12|10|5]| 9 145 2 Jeanine - Bernard 57,54%
1 Stéphane - Michel H. 9|o|o|8|1]|9|4|2]|12|10/12f{12|5|10/8|0|0|0O|6|1]|0|6[121]5]| 133 3 Stéphane - Michel H. 52,78%
4 Annie - Jacques 2|10{2|2|12|6|7|10(10|7|12|2|10{0|2|6|11|8|1|5|6|0]|O0]0O 130 4 Annie - Jacques 51,59%
7 Simone - Etienne o|lo|o|s|4|2|0|4a|8|12|6|6|1|4|5|6|8[8|11|8|10[3|0]|6 117 5 Simone - Etienne 46,43%
8 Liliane - Pierre 9|s5fwo|s5|7|2|7|12|s5|3|8|6|5|2|11[1]|121({3]|0]0 o|s|o 117 5 Liliane - Pierre 46,43%
5 Marianne - Michel o|s|4|12(7|s|11|7|5|0o|3|6|0|0|0|11[5[3]|1]10 3122 112 7 Marianne - Michel 44,44%
3 Claudine - JeanJacques s|s|7|o|lo|o|11|7|0|3|3|0|1|6|[5|6|1|0]|6]S 10|11 4 98 8 Claudine - JeanJacques | 38,89%
N° EST-OUEST 1(2|3|4|5(6|7]|8|9|10]|11|12(13[14|15|16[17|18|19|20(21|22|23(24| TOT Place EST - OUEST Résultat
13 |Mona - Yves 7|7|5(12|11| 0|10|12|10(12| 9| 6| 7| 2|4 (11| 1|9 |11|7|6|9]|12|6 186 1 Mona - Yves 64,58%
10 |Nicole - JeanMarie 12|7|8|4(11 s|o|7|s5|1|10f11|8|7|6]|11|12|6|11|6| 2|7 163 2 Nicole - JeanMarie 56,60%
15 |Raymond - Christian 10(2|10|7|8|10|1|5(12|s5|12|1|0|2|1|1]|7]|9|6|11]|12|12|7|12] 163 3 Raymond - Christian 56,60%
16 [Norette - JeanClaude 3(7|2|w0|o0|6|12|8|4|9|9|12|4]|2|12|12|11|4|11|2|6|6]|1]3 155 4 Norette - JeanClaude 53,82%
9 Olivia - Eric 3(12|12|7|5|10|5|2|2|0o|6|6|11|6|7|1|7|0|1|0|0|9]|10{10] 132 5 Olivia - Eric 45,83%
11 |Andrée - José 7|7 o[s|3|8|w0|o|s|4a|6]|2|12|10|6|4|4a|6]|7]|10/2]4 131 6 Andrée - José 45,49%
12 |Bernadette - Josée ofo 2(2fw0|1|s|7]2|1|1|7|w0|1|6|2]|a|1|a]2]2]1 78 7 Bernadette - Josée 27,08%
14 |(Bye 0 o|lolo|ofo|o|[o|o|o|o|o|o|ofo|o|[o|O|0O]|O]O 0 8 Bye 0,00%




